(DICS31)

B.A./B.Com./B.Sc./B.HM./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

SCIENCE AND CIVILIZATION

Time : One and half hours Maximum : 50 marks

SECTION A — (2 x 13 = 26 marks)
Answer any TWO of the following questions in 6 lines.

Write about the age of metals.
S50 050AL0K0 809 [FP0K080.

Write about the theory of Copernicus.
7S8R groBHndy 809 FRokH.

Describe various types of vaccination.
DD 850 35700 K80 IHBOHDN.

Describe the invention of various Engines in brief.
DA 5570 00KV KH80D HOIN0MT o 080.

What are the main sources of energy?
DDE 8570 38 HHe D? HHBoYHDW.

SECTION B — (3 x 4 = 12 marks)
Answer any THREE of the following.
(a) Pythagorus

PFNBR.

(b) Pesticides
BBV,

(¢) Gellelio
ROOSe.

(d) Detergents

Gea00600.
23

(e) Green Revolution

B PS5,



®

(@

(h)

@

Television
£30230.

Welfare
QDOZOH.
ICBM
0.9.9.%.

Communications.
PSnSatnilel o“occgééoen.

SECTION C — (3 X 4 = 12 marks)

Answer ALL questions.

Fill in the blanks :
PPIOR FHPBOYHHN:

(a)

(b)

(©

(d)

Who invented penicillin
DOV ERORDHE

Who invented printing press
9300 OROBHVR0 EXONDDE IHE?

Who invented compass
BETYDD EHONDIE IHBL?

Father of Green Revolution
8 X)‘Qé DTEAITVED

Choose the correct answer :
DB DHI°EERD00 am&g"mm.

(a)

(b)

DDT is used as
833 B 85 TS

(1) a Poison (i1)
QAT

(iv)

(i11) a mosquito repellant
&0 63

Vitamin is a

DS e

(i)  Fertilizer (11)
A0

(i11) Micro nutrient

WS& D880

(iv)

drug for fever
2350°08 5008

a fertilizer
Nlebin))

Harmone

585° ééa

Drug
LA

(DICS31)



(¢) Diabetes is caused by
B0GIRVTEH00 BODOD D)oo

(i) in sects
SeogHooen

(111) lack of insulin

’a?@o{\)é)s %0
(d) Solar energy is a
838 B 2.8

(1) conventional energy
DodTas) B8 S8

(i11)) chemical energy
Se00DE %_ép
Match the following:
23BDSWO:

(a) Vaccine
e35° H00e%0

(b) Chloropharm
§:88©°60

(¢) Printing Machine
9300 Q00BN

(d) Insulin
'am‘\)eﬁs

@)

(i)

(iii)

(v)

(i1)) mosquitoes

&%0en

(iv) housefly
&80

(i1) non-conventional energy

DORITTABHE B DO

(iv) atomic energy
e B8

Charles Gutenberg
P80 ArgBond

Harmone

28 ;’7585&260
Edward Jenner
cDCfaQQé aéj)

Anesthetic
éoéé_ooéoocﬁg
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(DBC 31)
B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

BUSINESS LAWS

Time : Three hours Maximum : 70 marks

SECTION A — (4 x 3 = 12 marks)

Answer any FOUR of the following questions.

What is meant by valid contract?

DYEARD SPoETEY R D02

Effects of Coercion.

2O[ORBIKO B0E); (98T°D0.

What do you understand by Performance of contract?

SP0(eT DESEHR DY Do 80 DILHTND?

Differences between Wagering Agreement and Contingent Contract.
{0BVE STOETE B 857G waOEHN DKy Ko BEB?

Bailee’s lien.
‘Bowd .

Working performance of District Forum.
e PRS0 BoE); IVAK.

Disqualifications of a Company Director.
0d G858 Boog); ed8Ben.

SECTION B — (2 x 8 = 16 marks)

Answer any TWO of the following.

Enumerate the essentials of a valid offer.
DYBRD (DB Boog); esdEgsOR J8BEBoDOG.

What remedies are available to an aggrieved party on the breach of contract?
PO DDTPHDHNV TP $0283¢ 88 w0 HBHToe0 A?



10.

11.

12.

13.

14.

15.

16.

17.

18.

Explain the rights and duties of Agent.
DR (ABOES) G0, K00 HIBAL ePES§HORN DHBOWOE.

What is Essential Commodities Act? Also state its objectives and powers to control
production.

‘@SS SRDO DY’ GRTRW? SHBD DALOGOHH TR B B, BTN
0BA ST Begydw.

Describe the significance and effects of Indoor management.

Q08’0 IIVEI006Y GBouE); (FFANPFBRL BAIN TR (DT HEBEB0HOE.

SECTION C — (3 x 14 = 42 marks)
Answer any THREE of the following.

(a) Explain the Rule of "No Consideration,
No Contract".

)

WAI00BD  SoRFRED, DYETUD SoRTHOY P DIRTR8 MR T5argdo
DoHod.

(b) Are there any exceptions to this rule?
&8 QROFHOL) PRV JAT® DIFON0HE) HTYAST®?

Define the term Acceptance. Also explain the essential elements of a valid
acceptance.

A G IR DE0HHD. DYBAS A)®  (e0RseB0)H PR esSEERNSD
SeEsPR K708y 998owod.

What is discharge of a contract? What are the various ways in which a contract
may be discharged?

“SP0(eTE DUSEIO? @I B2V SolerEy DGR 10 DN 3GBHoLd DD?

Who is a Bailor and Bailee? Explain their rights and duties.
‘Bowed HoBAN ‘Bowd’ @D HKH? T QBoE); TEO 0BA  eeEFBOR

IHB0H0E.

Briefly discuss the implied conditions and warranties in a contract of Sale.
CAVEN) ?oLwécgeS‘s BEDRY) SEBO’ LBA “Jrdew o K178y Kdorr B8yodod.

Enumerate the rights, duties and powers of Company directors.
0d GBELY B8, ©9G5°Tren, FoE);00 D805 erggBen K°8) D%B5B0D08.




(DBC32)
B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

INCOME TAX AND PRACTICAL AUDITING

Time : Three hours Maximum : 70 marks

19.

20.

21.

22.

23.

24.

25.

26.

SECTION A — (2 x 3 = 6 marks)
Answer any TWO of the following questions.

Internal check system.

OBLD BOP oo

Accounting and auditing.

237),0830R, esé&eSof

Types of vouchers.

éu;bg 8s°e0

Qualifications of auditor.
e3Ce0%0 e9sen
oJ°
SECTION B — (2 x 14 = 28 marks)

Answer any TWO of the following questions.

Distinguish between continuous audit and periodical audit. Explain the merits and
demerits of continuous audit.

DN WG, BB ede W5 Ko Brro B VIV 8é e Sarod JHB0HOE.

Discuss the liabilities of an auditor under the companies act.

Sonde D80 (S5°80 38600 2EGBOR $By0%os.

State the provisions of companies act regarding appointment and removal of
company auditor

oo €368 D03IPHISRE, 8°OR0HIEK 0008 Eond Dy DVOEIO de)od.

What do you mean by audit working papers? Explain different types of audit
working papers.



217.

28.

29.

30.

31.

32.

33.

3365 5D SRTPOV IMTH? D 8500 335 H SRTPOKD DHB0D0E.

SECTION C — (2 x 3 = 6 marks)
Answer any TWO of the following questions.
Previous year and assessment year.
H& Joveyso, 26:6301 X)cg;@éé Q0o
Providents funds
?5&’)0“)5 FIaSIoW
Set off of losses
dap &8
Computation of professional income.

N8 2008 e3T3°08°R) M9 Dotoe.

SECTION D — (2 x 15 = 30 marks)
Answer any TWO of the following questions.

How would you determine the annual value under the head “Income from House
property”?

“HYIRR o0l esTraH0” BEED T8 de0do ) deor dgBosatd?

Discuss the incomes which are exempt from income tax.

e5T0% DY) 900G HIF0) D08 ST AT K°8) BB oVOE.

Mr. Pratheek Sai has given the following information and find out his salary
income.

Basic salary 20,000 p.m

Dearness allowance (Includes in retirement benefits 100% of salary)
Bonus 20,000

City compensatory allowance 400 pm

Lunch allowance 500 pm

Reimbursement of medical expenses incurred on treatment of wife in a private
hospital 22,000

House rent allowance 8,000 pm and he is paying rent of 7,000 pm.

Employee’s contribution to RPF 14% of salary



Employer’s contribution to RPF 14% of salary

Interest credited to RPF @ 12% p.a. 48,000

DBE Dran B, 808 ddTPe 0d& B0 e3mP0H0 ERTH0G.
Sorre B0 e 20,000

5D 50 (DDGed HAIT0SE” Bebtod) BoS® 100%

%% 20,000

DS $5B388e5B50 0K 400

D0GegT) §esd 85850 0L 500

B ROy | PO SROSBS” PS50 DABO 858 BAD Pesg B0 22,000
[0ed eag ?5é§§o 208 8,000 9850 T;Se(?)o&:é eag) 205 7,000

080 08D D5 QS &R Doz BwoS® 14%

Q) FDg DO AN How® BBOS® 14%

K080 2r0B% $955DBS wRDID DG BoNd 12% S5 48,000

Mr. Anil who has income only from house property submits the following
information about in

(a) Gross Rental Income (after deducting the following 1,00,000)

(1) Depreciation 24,500
(1) Lift maintenance charges 7,500
(111) Municipal Taxes 15,000
(iv) Vacancy 10,000
(v) Repairs 18,000
(vi) Pay of chowkidar 1,000
(vil) Bank commission 500

(viil) Legal expenses on recovery of rent 8,000
(ix) Salary of Gardener 1,200

(b) Municipal rental value 1,50,000



(¢) Interest on loan taken for the construction of house 15,000

Compute income from the Home property.
S HD Kg)()ﬁé R00& 39 errad IITe0 (808 DEFOrT WICATEE Kg)(ﬁ%)n D00& HOYD
e5°05°R)) ERORR0Ce.

(@) X)Jc;@ ®% Ao (808 L0 MDTFC0AD BEF*S 1,00,000)

() BHKHS 24,500
(i) O dYres B 7,500
(i) DooRyHS Sdgyeo 15,000
(iv) g9 g0 10,000
(v)  Do8Hpsoen 18,000
(Vi) seHeraed B0 1,000
(vil) 2705 E09S 500

(viii) &8 S0 DO BHS sy 8,000

(ix) &% S0 o 1,200

(b)  BYIS &R JO0H 1,50,000

© Ky DoyErdd BOYS ey P %& 15,000



(DBC 33)

B.Com. DEGREE EXAMINATION, NOVEMBER 2021.

Third Year

COST AND MANAGEMENT ACCOUNTING

Time : Three hours

SECTION A — (4 x 3 =12 marks)

Answer any FOUR of the following.

Behavioral classification of cost.
RSPTeRY 2EY HO% HBEYeo.

Objectives of Material control
20380y danoBEs Gk, Ggoireo.

Bin card, Stores ledger
D 5°0, YOy esdHe.
G’ @ 23

Causes of Idle Time

ég)w?re)m:sé) e8P,

Departmentalization of overheads
S8° S505re derREes.

Advantages of Ratio analysis

DYBIO &’)‘ém’e (S &@Breesaren.

Types of Financial statement analysis
8 FIRTARG) &’)E)%Kxe'eé‘s Sseen.

Cost centre and Cost unit.
5°R SO0 HoBAK 5°Y AT,

SECTION B — (2 X 8 = 16 marks)

Answer any TWO of the following.

Maximum : 70 marks

Bring out the differences between Financial Accounting and Cost Accounting.
'Qar’é)o&eg ©93°0630R 28050 S°§3 50630 © B0y B350 DOEAAHOE.



Explain briefly the various Inventory control techniques.
DI 8570 800 DODHOBE IFP"TOR DBV ¥BEB0DOE.

From the following particulars you are required to work out the earnings of a worker for
a work under (a) Straight piece rate, (b) Differential piece rate, (c) Halsey
premium scheme, (d) Rowan premium scheme.

Weekly working hours 48

Hourly wage rate Rs.7.50
Piece rate per unit Rs.3.00
Normal time taken per piece 20 minutes
Normal output per week 120 pieces.

1808 25070 00D 28 D TR 2.8 TT°VE DBHAND (a) FPeSes DR Bew, (b) éﬂwééé 39
26} DBDIW, (0) Ty HAALD JEESN (d) FHS DA DEES0 :ag@oe‘ss 3y,

6006,
Q
°0°D8 5D Koo 48
K00 DDA Bew &5°.7.50
2.8 05232965 B8 DBHIHN &5°.3.00
2.8 aHoeDed 598 :>e;e§ SPOH0 20 DO
T8 peSes &Y 120 &oe.

The following transactions are taken in respect of a material used in a factory

Quantity Quantity
Date ) Rate per unit i

received issued
03.1.19 400 2.10 -
15.1.19 500 2.20 -
19.1.19 — — 500
23.1.19 600 2.50 -
27.1.19 — — 900

Prepare Stores ledger using Weighted Average method of material issue.

1808 D507 2.8 @veggéé‘s 7;539580535\)& $5020080959.

5 I8 ALrReS Bew &8 DD
8

BHICEI 8o°. BDICEID

03.1.19 400 2.10 —
15.1.19 500 2.20 —



19.1.19 — — 500
23.1.19 600 2.50 -
27.1.19 — — 900

g8 Se0 SFBS® By eDTRL BAL DoHod.

SECTION C — (3 x 14 = 42 marks)
Answer any THREE of the following.

Following are the particulars for the production of 2000 sewing machines of Nath

Engineering co. Ltd for the year 2018

Cost of material Rs.1,60,000 ; Wage Rs.2,40,000 ; Manufacturing expenses
Rs.1,00,000 ; Salaries Rs.1,20,000 ; Rent, rates and Insurances Rs.2,000 ; Selling
expenses Rs.60,000 ; General expenses Rs.40,000 ; and Sales Rs.8,00,000.

The company plans to manufacture 3000 sewing machines during 2019. You are
required to submit a statement sharing the price at which machines would be sold

so as to show a profit of 10% on selling price.

Following additional information is supplied to you.

(a) Price of the material is expected to rise by 20%

(b) Wage rates are expected to show an increase of 5%

(¢) Manufacturing expenses will rise in proportion to the combined cost of
materials and wages

(d) Selling expenses per unit will remain the same

(e) Other expenses will remain uneffected of the rise in output.

B8 ddoren 2018 [50HE)0RE 2,000 Key NI &H)BE [Sowoodd & 02dB0oN
Eod ORED.

08B0HE S5 8°.1,60,000, DeTren $3°.2,40,000 STHEE P E.1,00,000
Boren §°.1,20,000 eag Do Ho8an DA &°.2,000 @éoég‘@ BN 83°.60,000
Dpedes PBNLV E°.40,000 08050 @263&5"@3 &5°.8,00,000

502D 2019 Fo5BDE 3000 ey WHE) GES BcseK A0SO WYB. Ko MRS

28),0838 0B edy 53, SIRED 5 P 10% e SV B BAHos.

JHY AAITPIEH0:

(a) BBOHS B8 20% DEHOBOOED 90D .



(b) Ddre 800 5% wSKHTWD.
©  &moBE PBNeV, eIB0S BA e DAROS 9:0HHAE° VKT,
(d) 38D PEe 2.8 O32°E5E) ATED).

(6) &THBE AL WRMEONT BBE PENOY 2IT°EY.

From the following information work out the production hour rate of recovery of
overheads in department P,, P, and P;.

Production departments Service departments
Particulars

Total P, P, P, S, S,
Rs. Rs. Rs. Rs. Rs. Rs.
Rent 1,000 200 400 150 150 100
Electricity 200 50 80 30 20 20
Fire insurance 400 80 160 60 60 40
Plant depreciation 4,000 1,000 1,500 1,000 300 200
Transport 400 50 50 50 100 150

Estimated working hours 1,000 2,500 1,800

Expenses of service departments are apportioned as
P, P, P, S S,
S, 30% 40% 20% - 10%
S, 10% 20% 50% 20% -
P,, P,, P, &%) 25°mro% 3083 (808 D00 009 K0tk &oiE B & Jgeme

S8° 50570 BEH6 esgrsone BY); Egoé.

ST ESE TR VT° eI
DIT RV
3o P, P, P, S, S,
eag) 1,000 200 400 150 150 100
Deso5)8 200 50 80 30 20 20
off) Par 400 80 160 60 60 40

08 BHEOHEE 4,000 1,000 1,500 1,000 300 200



Soea 400 50 50 50 100 150
90DT° I Koo 1,000 2,500 1,800
VT PRI PO (808 dFor 50963 DoITd.
P, P, P, S, S,
S, 30% 40% 20% @ - 10%
S, 10% 20% 50% 20% @ —

A firm of building contractor began to trade on 15t April 2018. Following was the

expenditure on the contractor for ¥ 3,00,000.

Material issued to contract T 51,000; Plant used for contract T 15,000; Wages
incurred

Z 81,000; Other expenses incurred ¥ 5,000.

Cash received on account to 31.3.2019, amounted to ¥ 1,28,000 being 80% of the
work certified. Of the plant and material charged to the contract, plant which cost
Z 3,000 and materials which cost ¥ 2,500 were lost. On 31.3.2019 plant which cost
Z 2,000 was returned to stores, the cost of work done but uncertified was ¥ 1,000
and material costing ¥ 2,300 were in hand on site.

Charge 15% depreciation on plant and take to the P and L a/c 2/3"¢ of the profit
received. Prepare contract a/c, contractee’s a/c and balance sheet.

28 PID X)O"’&E’& S°oLeJ°§C53 B JFEI0  1.4.2018 3 85°.3,00,000 05 ?oLwéegm
(*SODODN.

(AR (i)ogb &)Ci)l)e)o.

SPOTPRE J0DD eIBAHS) 83°.51,000, StolEryy &IBIrR0DD ot 83°.15,000,
RLOW BQoDI 83°.81,000, B3 PENLO 83°.5,000.

31.3.2019 7738 I30°B 9 &°.1,28,000, Al q)bgaoa;s SDS® 80%, S0 w8
DaHedd 20638050 580k Froend® 83°.3,000 devd Ko ot K3°.2,500 © desd Ko
E8aHS ¥ FowoB. 31.3.2019% &r.2,0000 devd Ko Fotn PN (8Y
QOIEPRE. 3 I8 £9000:9:)¢38
$5)DEBOSEDB 83°.1,000 208050 65 9¢ &) e3BADHES 8°.2,300.

00 P 15% BB o2ew DO, HAYD eSS 2/3 H Doty ol Mape T
SAE . 0T YT, S°oLw°§ PETR), B BYPO HEIEK BAITD DaHod.

Adarsh company purchased and issued the material in the following order.



1 st

5th
10tk
12th
15t
20th
30th

Date
January
January
January
January
January
January

January

Purchase
Purchase
Issue
Purchase
Issue
Purchase

Issue

Units
300
600
500
700
800
300
100

Unit cost Rs.
3.00
4.00

4.00

5.00

Ascertain the quantity of closing stock as on 31st January and state its value under

each of the following methods of pricing the issues:

(a) FIFO

(b) Weighted average.
e3655 50D 70 (808 Do eIBAHS SRR, &8 B0,

1

5
10
12
15
20
30

DT

V16
V16
V16
V16
V16
V16
V16

SRRV
SRRV
280
SRRV
280
§™0R e

2800

SR INY
300
600
500
700
800
300
100

007205 &8
3.00
4.00

4.00

5.00

31 £3358 T3 Bo0R0RY) SELH $BATEa0 508k Jevdo (a) FIFO 558 &%, (b) 788

ISTATAV)

BES S BY Ke0a.
[} (]

Following are the Balance Sheet of Sheela Company Ltd. and Shanti Company Ltd. as

on 31.12.19.
Liabilities

Equity share capital
12% debentures

10% pref. share
capital

Reserves and surplus
Dividend provision

Creditors

Bank D.D

Sheela
Co. Ltd.
Rs.

4,00,000
2,00,000
4,00,000

2,00,000
1,00,000
3,00,000

Shanti
Co. Ltd.
Rs.

6,00,000
4,00,000
5,00,000

2,40,000
1,40,000
8,20,000

1,00,000

Sheela Shanti

Assets Co. Ltd. Co. Ltd.
Rs. Rs.
Land building 1,60,000 2,40,000

Plant and machinery 6,00,000 12,50,000

Investments 2,00,000 4,00,000
Stock 3,00,000 4,00,000
Debtors 2,00,000 2,40,000
Cash and bank 1,40,000 2,70,000
balances




16,00,000 28,00,000

16,00,000

28,00,000

Compare the financial position of the two companies with the help of common size

balance sheet and comment.

808 e epe ;’J%§§ Ser 0D dWBE L0801 Tod Eond O50BE 88 DolD
31.12.2019 505830°08 DoBIB.

9PV

Her ¥o.
ABE
8o°.

S08ced e SoTeEHID  4,00,000

12% &50;563
10% esB8g) °er
QTP
Bassogeo, g)or‘bqiﬁo%)
SDBOIZ TYeD

2200£9T°HO)

250 L5857

2,00,000
4,00,000

2,00,000
1,00,000

3,00,000

T0D o.
ORBE
8o°.

6,00,000
4,00,000

5,00,000

2,40,000
1,40,000

8,20,000

1,00,000

16,00,000

28,00,000

E)@)" . od ¥o.
e300 O0BE  ABE
8oe. 8o°.
P, IO 1,60,000 2,40,000
o0, ao|en 6,00,000 12,50,000
bechaodooo 2,00,000 4,00,000
B 3,00,000 4,00,000
22083 f0en 2,00,000 2,40,000
3 DBasn aréoé)
1,40,000 2,70,000
EUINOV)
16,00,000 28,00,000

e WHPO HIE TXT G0t Eowde €88 SBAR D) Wt B Jedtn BdAD
—o 5] [ ]

Zaosw.

The ABC Company Ltd’s financial position contains the following information.

Liabilities

31.3.18
Rs.

Current liabilities 6,40,000
16,00,000 16,00,000
Equity share capital 20,00,000 20,00,000
Retained earnings 4,68,000

10% debentures

31.3.19
Rs.

8,00,000

8,12,000

31.3.18 31.3.19
Assets Rs. Rs.
Cash 2,00,000 1,60,000
Debtors 3,20,000 4,00,000
Temporary investment 2,00,000 3,20,000
Stock 18,40,000 21,60,000
Prepaid expenses 28,000 12,000
Total current assets 25,88,000 30,52,000
Total assets 56,00,000 64,00,000

Statement of Profit and Loss for the year end 31.3.19.

Sales

=) CGS

(-) Interest

Rs.
40,00,000

28,00,000
1,60,000 29,60,000

Net profit (2019)
(~) Taxes @ 50%

10,40,000
5,20,000
5,20,000

Divided declared on equity shares Rs.2,20,000.



From the above figures appraise the financial position of the company from the
point of
view of

(a) Liquidity

(b) Solvency

(c) Profitability

(d) Activity (2 Ratios for each).

ABC 8029 o8 eagg K)ng)@ 1808 d&ore Sok.

. 31.3.18 31.3.19 . 31.3.18 31.3.19
DeP0 . oe. S e .
(9R08 esgpen 6,40,000 8,00,000 SKcH 2,00,000 1,60,000
10% GBowS) 16,00,000 16,00,000 200€3(/$3000 3,20,000 4,00,000
863 Boredsdo 20,00,000 20,00,000 @& Deyeroen 2,00,000 3,20,000
D00 esiden 4,68,000 8,12,000 S 18,40,000 21,60,000
o000 5(201‘1):6
- 28,000 12,000
(908 €550 DoBo 25,388,000 30,52,000
2080 B0 56,00,000 64,00,000
&g Hapo DB 31.3.2019 & wosudly Soid
8o
@m&g’@o 40,00,000
() 290 B30 5 &8 28,00,000
) 5 1,60,000  29,60,000
DES o850 (2019) 10,40,000
() 5% @ 50% 5,20,000
~5,20,000

56883 TP GITOE (5530998 §°.2,20,000.

P dTo&®

(@) OFBe (15958) espesorr,

(b) BN espedorr,

(c) rerraLED esprsore,

@ 289 (S9) esprdore Doy ), es8E SERS BAHBAE.
[ [} [

(98 Hgrifo Dol 2 dHBen BY); Seyes wgo°)




B.Com. DEGREE EXAMINATION, NOVEMBER 2021.

Third Year

BUSINESS CORRESPONDENCE AND
REPORT WRITING

Time : Three hours Maximum : 70 marks

35.

36.

37.

38.

39.

40.

41.

42.

43.

SECTION A — (4 x 3 = 12 marks)
Answer any FOUR of the following.

Oral Communication.

SPE gméaéas ;

Johari Window.
%58 Kar%o.

Communication Barriers.
EH0IGR8AN oL,

Importance of communication.
EH0IGRBAR BY), esDEgES.

Good News Vs. Bad News.
00D mge» Vs. DO mg@o.

Communication through visuals.

EyB5900 T E0T5IESS.

Meetings.
(TR,

Interpersonal Communication.

$5890 D05 BRI
SECTION B — (2 x 8 = 16 marks)

Answer any TWO of the following.

Communication objects.

BOBEO OFTIRV.

(DBC 34)



44.

45.

46.

47.

48.

49.

50.

51.

52.

Visual communication.

(B dowyso.

Summary report.

Qo JHEE.

Communication networks.

SfeTnL: o) ed5eD.

SECTION C — (3 x 14 = 42 marks)

Answer any THREE of the following.

Discuss the significance of communication in an organisation.

DFIPS® OBEZN BovY); (0B 80BN,

What i1s communication? Why is communication so important for a business
organisation?

2077508 @085 IR0 T BFHIE LRGBS 0L esHEERHA?

What is diagonal communication? Discuss its advantages and disadvantages.

Diagonal $205°50830 @307 T B, &8 i Begyu.

What are the factors that affect interpersonal communication?

$5E0 B0y SOBTRY (HETABH DO SESB?

What are the functions of business letters?

ToES Do B, DGO B)AHBRCHOE.

A Good report certainly should have some essentials, what are they? Explain
briefly about some commonly used reports.

28 2009 BN YOOI §°Y) e3HETeD G060, © QD32 FEE0T SHIBIR0D
§°)y Bshoro K8 HJorre IDHBoHo&.




B.Com. DEGREE EXAMINATION, NOVEMBER 2021.

Third Year
Computer Science

BUSINESS DATA PROCESSING SYSTEMS

Time : Three hours Maximum : 70 marks

53.

54.

55.

56.

57.

58.

59.

60.

SECTION A — (4 x 3 = 12 marks)
Answer any FOUR of the following questions.

File creation.

File 50 85°r080w00500.

Advantages of dbase.
Dbase [:3335°28:5:30000.

Syntax and example for sort command.

sort command §°8% Syntax 208050 &meaedesen.

Steps to create spread sheet.

Spread sheet 7080w S3e0.

Use of find and replace option.

Find 508050 893> option G0%); &5G°K00.

Use of Dialog Boxes.
Dialog Box G300¥); 3A35°100.

Define formula in Excel.

Excel &° Ho e3er 255300,

Difference between print and preview.

2062 08050 2)?@“’50 DG BN

SECTION B — (2 x 8 = 16 marks)

(DBC 35)



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Answer any TWO questions.

Explain about direct file organization.

0§ file esgRIBAS S 0802 HBoHOG.

How can you modify report and print a report?

B8O I B0 3@_:63 08050 Jer print DHoHAE?

How many types of cell references in Excel? Explain in detail.

Excel &° Ko cell 8530y0 BwE); 857e0 AT HeBr 9580w0é.

What is the use of letter wizard?
BeathH ey BovE); SHBIHR?
SECTION C — (3 x 14 = 42 marks)
Answer any THREE questions.

Explain data processing life cycle.

Thee (D830R life cycle D0 9HB0wWD0.

Write an examples for Database Commands.

6o EAT°0¢ §TEY) GTErdese) PaHos.

How do you create a Report in a DBASE?
DBASE &° 8283 Jer create Bae80?

What are the features and applications of Excel?

Excel Goo); 98) 508010 e85y 29?

What are the options in Format menu and View menu?

Format menu 08050 View menu ©¢° Ko option o 997

What is File management under Windows? Explain in details.

Windows & Ko File 0R830060 @b a0? Jeom 95800od.




(DBC36)
B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

CORPORATE ACCOUNTING

Time : Three hours Maximum : 70 marks
SECTION A — (4 x 3 =12 marks)

Answer any FOUR of the following questions.

Need for Indian accounting standards.

g% @5 0E30N [S5T7ere BE), eHHES.

Redemption of Debentures.

G230 (a0esEren) B, HITDJ0.

Why internal reconstruction is suitable?

Sellela) Xg)?é@:pzeso QOLVNOD WRETCOPIE?

What is meant by holding company?

K)ﬁg‘goﬁ 0D 9IHTRD?

Is there any difference between insolvency and liquidation?

Bo° 58050 SBIZTV Dy Jape° BG® YT

Necessity for valuation of shares.

PVRINLD) mr"e?éogsam(‘égo [ANY) ea‘b‘réééé.

Profits prior to incorporation.

RATPLDED V0D eregen.

Amalgamation and its types.



[o@BIeKo 28a5 IS Sseen.

SECTION B — (2 X 8 = 16 marks)

Answer any TWO of the following.

From the following details find out the value of each equity share:

Balance sheet as at 31.3.2019

Liabilities Rs.
Equity share capital Rs.10 4,00,000
7% preference

share capital 2,00,000
General reserve 50,000
Pand L A/c 40,000
Workmen’s savings Alc 20,000
Provident fund 25,000
Depreciation reserve 80,000
Creditors 45,000

8,60,000

Notes :

(a) Goodwill is worth Rs.80,000

Assets
Land and Building at cost
Plant and machinery at cost
Stock at market price
Debtors
Cash at bank
Prepaid expenses

(b) Depreciation reserve is excess to the extent of Rs.30,000
(¢) Debtors of Rs.10,000 are likely to prove bad
(d) There is a disputed liability of Rs.15,000 (not provided in the accounts) out of

which
Rs.10,000 is likely to materialise.

BID S0 90 Se8ged e 1 & Dewdto B 0B508.

31-3-2019 &3 e9§ 93O ovaéé

990 s
58883 TreT BATOEH0 4,00,000

1 8 &85°.10 S

7% ea@géo“g) T OICOG0  2,00,000

peBes Bastog 50,000
e°gs :6%@ o 40,000
SQT*B DO r@Een 20,000
9Toew Hobs 25,000
BBOHE Bastog 80,000
aoooe'aLKX)_%oo 45,000

8,60,000

&0
8", gdarew (PBEH)
2060 B3 oo
(928)
REE (8380 &58)
22008310
BEOES” B
S0 5@0&:6 AN

Rs.
1,50,000
2,50,000
2,50,000
1,20,000

75,000
15,000

8,60,000

8ol
1,50,000

2,50,000

2,50,000
1,20,000
75,000
15,000

8,60,000



()
(b)
(©
(d)

K825 Je0H 83°.80,000
BHEMOE Bastiyg MM &) Doodo 83°.30,000
2008|100 S” §3°.10,000e0 oo 2rBen 5OR HRyD.

Q0EEPEFH 83°.15,000 (°8° HRSPOS” BYEDD) ©90K>S” 83°.10,000 DTG

Describe the meaning of the word valuation of shares. Enumerate various determinants
effecting valuation of shares.

TeTO DOTTEOEEINN’ O DTR8 ©go 23809, oe8 R (DgrdBO DASD DS
RSO D%BEB0HOG.

From the following information calculate value or goodwill

(@)
Rs.93,625.

(b)

()
10%

(d)

(e)
B
(a)
(b)
©
(d)

(e)

Sundry assets of the firm are Rs.22,30,800 and current liabilities are

Average capital employed in the business is Rs.18,00,000.

Rate of interest expected from capital having regard to the risk involved is

Net trading profits of the firm for the past three years were Rs.3,22,800,
Rs.2,72,100 and Rs.3,37,500.

Fair remuneration to the partners for their services is Rs.36,000 per annum.
DAHEN DS esprsore H&EIS Derd B8)0w0dk.

X)oé) B0E); DD e300 83°.22,30,800 08050 (00 e 83°.93,625.
méavdoé‘s DIBITRODD e JoTreiido $i°.18,00,000.

Denad 8,5 P SorreEtop @ode 9& Ben 10%.

K& HO0PED DODBYBH0O éoé) QBE); DEY 88 orgren &r.3,22,800, &°.2,72,100
0B &5°.3,37,500.

IR0, T8 WIOKD MR (H8He0 JreusH 837.36,000.

Rama Krishna Ltd issued equity shares of Rs.100 each on the following terms:

On application Rs.20 per share; on allotment Rs.40 per share,

On first call Rs.20 per share; on second and final call Rs.20 per share.

Mehta to whom 300 shares were allotted, failed to pay the allotment and on his

subsequent failure to pay the first call his shares were forfeited. Gupta, the holder
of 100 shares failed to my the first call, and his shares were forfeited. The forfeited
shares were reissued subsequently for Rs.110 per share fully paid.

Pass journal entries.



orR0E)R OBE T BIOD DWOEHE DBE Fedged Trereo 18 8,100 TYpd @b
DAHERHE:

SEPPR) P TeeEDd EI°.20 SPad; BeT0000:) P T EI°.40 Foagid;

D DOVY) 2 08 80,20 J9R; Bodsd Bakn &8 2)@3@}3 e 8°.20;
WL BeranodDd 300 TeFOL MTRL, B0 Feronow) TR B o)
0T DYoVHOWIOD OB TETOR W) WONEIB. KK Berowodd 100
ToTOE) TR DEVR) DOTOR 3)(’20{5?60653:6 OBD IO e 3053@_?66. 23:)
DODNED TR0 GBR 837,110 K FeB Do Terreore SBR &0 DAHERDB.

P HPTFT O DT SEO0R0 [FPoH0E.
- M) @

SECTION C — (3 X 14 = 42 marks)

Answer any THREE of the following questions.

H Ltd acquired 20,000 (i.e., 4/5) equity shares of S Ltd of Rs.100 each on 31t December

2004. The summarised balance sheets of H Ltd and S Ltd as at 315t December 2005

were as

follows :

Liabilities H Ltd S Ltd Assets H Ltd S Ltd

Rs. Rs. Rs. Rs.
Share capital Fixed assets 70,00,000 25,00,000
(in shares of Rs. 100  80,00,000 25,00,000 Current assets 40,00,000 20,00,000
each)
Reserves 30,00,000 5,00,000 20,000 sharesin S 30,00,000
Ltd
Pand L Alc 10,00,000 10,00,000
Creditors 20,00,000 5,00,000
1,40,00,000 45,00,000 1,40,00,000 45,00,000

S Ltd had the credit balance of Rs. 5,00,000 in the reserve and Rs. 2,00,000 in P
and L account.

When H Ltd acquired the shares in S Ltd issued bonus shares at one for every five
share held out at post-acquisition profits.

Calculate cost of control before and after issue of bonus shares, and also prepare a
consolidated balance sheet.

31 &oadd 2004 7 H OWBE Tt 20,000 (4/5H080) S dBESD Se8ed
DTPO,

1 8 85°.100 S5 §7R0R @0 DADEHB. 31 Gnoath 2005 o3 H’ d0BE Ho8osw S’
OBE 775 &) e S0 BHDDAHWEDD.



HO083& S dx& HO083& S O0R&

RPe 8ol 8ol eaK)_%@J 8ol 8ol
Tee DTG0 Q00 70,00,000 25,00,000
(18 557,100 F°3p) 80,00,000 25,00,000 [D30& es0e0 40,00,000 20,00,000
Bessgen 30,00,000 5,00,000 S OWBES"D
AR OV 10,00,000 10,00,000 20,000 eere0 30,00,000 -
22083 f0en 20,00,000 5,00,000
1,40,00,000 45,00,000 1,40,00,000 45,00,000

Give

‘S OBES® Bastiger Do 83°.5,00,000 DBAk ergs Hape erEe 83°.2,00,000 B&eS
ROS BIHBORYB.

H 92088 o7th S 0BESD Trerredn §0Men I BED TR0Ren Bood ergre
009 (B8 &0 Tered .83 00 Treriy &8 BoDEDDB. B Toeren e°88 o
20801 B0 e &b Bos DooBEr HaER) B8 0B0d HBA H8EYS e epe
SED BOIEH Do,

a proforma of the statement of affairs and the deficiency / surplus account with
imaginary figures.

DT IDAY B IHe0/E e TERY ErodD @080 TUT DIITTOR

[@rood.

Given below is an extract from the trial balance of a bank as on December 31, 2010.

Dr.Rs. Cr. Rs.

Bills discounted 12,64,000 -
Rebate on bills discounted on

January 1, 2010 — 8,340
Discount received - 85,912

An analysis of the bills discounted as shown above shows the following:

Amount (Rs.) Due date 2011 Rate of discount % p.a

1,40,000 March 6 5
4,36,000 March 12 4%
2,82,000 March 26 6
4,06,000 April 6 4

Show with the aid of workings, how the relevant items will appear in the Bank’s
balance sheet as at December 31, 2010 and in the bank’s P and L A/c for the period to
December 31, 2010.



31 G028 2010 e ego%d Buds); @oSer Dege0 BHD DOHaEDD.
B0 S B&eS Koo
Ga),08> DADWED 2enen 12,64,000 —
1 25998 2010 °6d GRm,065
DAHED HTre0 Ve BZew _ 8,340
SO GRm,065 - 85,912
R0 DGR Gam,065 DAHED Dege Tl BIOH DALWENE.

DooBdo (Ben) (M) BB 2011)  &am,065 Bewd (% Ho11R3)

1,40,000 208y 6 5
4,36,000 08y 12 4%
2,82,000 2008y 26 6
4,06,000 MRS 6 4

31 &R0t 2010 T°E38 argosd e°g Hape rErS” W 31 ERowd, 2010 O &)

@5pe ovaééeS‘s 2 90T ADFOM® ENDFRBI® :J°8 50708’ HIHod.

From the following trial balance of a life insurance company prepare revenue account

and balance sheet as at 30.6.2019.

Rs. Rs.

Capital paid and outstanding 1,15,200
Surrenders 3,300
Reversionary bonus paid and

outstanding 12,300
Establishment charges 23,500
Commission to agents 48,500
Medical fees 10,100
Directors and auditors fees 24,000
Stationery and printing 4,800

Postage and telegrams 1,050



Office rent 4,200

Sundry expenses 800
Bank charges and commission 950
Investments 40,47,400
Loans on policies 1,74,700
Outstanding interest 69,800
Outstanding premiums 23,200
Cash at bank 29,600
Fines and fees received 300
Interest and dividends received 2,25,300
Premiums received and outstanding 3,30,800
Premiums received in advance 9,000
Claims admitted but not paid 2,10,000
Claims intimated but not paid admitted 20,000
Sundry creditors 18,000
Life fund in the beginning of the year 37,80,000

45,93,400  45,93,400

30.6.2019 703 8D DAH0ED B DT> LoD T8 @08ew DT 0D, T°Cs T

208050 esR) @3pe 5B BALTE BaHod.

8. 8.
290D H08050 DYoT° P FoweD 1,15,200
RIAUSUSOV 3,300
390dd 208050 BP0 BHEHB £60 12,300
R oo (PENe) 23,500
B0 EAOAS 48,500
EES Sew 10,100
GO0 20800 e3densd Dew 24,000

Soo|een 0Bk Pod 4,800



DR 0Bk BT 1,050

S°0°§e>oi>o“g) eag 4,200
DO KN 800
2508 TGen 08050 EWBS 950
be%gaoc%ooo 40,47,400
:?M)E)OEJ_ 2000690 1,74,700
3oEnd 5 69,800
2oy Do 23,200
BPGOES” DI 29,600
e 30805 eBITR DT 300
DY DG 2B GIBOE 2,25,300
$9Y% 08A%0 ToHEVD HADHoRD 3,30,800
S0P SIS DAoL 9,000
©0BQODH T0WLV S DYoHBID 2,10,000
BOAHEVD 3020000 5D BRBIGODI 20,000
DA 220£THOD 18,000
301108 2% DI DG (B0ES DS 37,80,000

45,93,400  45,93,400

Describe the role and contribution of accounting standard board in India.

PEBHBF0S” ©T°0B30R (HHTeTe ) Bow); F(BRL B TR BHPAHEBI K8
2%B¥B0oHOG.

Discuss the computation and treatment of minority interest in holding company
accounts.

FFYoR Kond PrErein HOAT BALLDIE e9e) H0gPgE TETTO INTRY G0N
B8),09, TR IBKEFS V8 B 0erE® W8 oWos.




(DBC 37)
B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year
ADVANCED MANAGEMENT ACCOUNTING

Time : Three hours Maximum : 70 marks
SECTION A — (4 x 3 = 12 marks)
Answer any FOUR of the following.

Uses of management accounting.

B30 @9F7;0630M &IBITTD.

Give a proforma of cash budget.

RIS GESE BT FADD.

What are non-cash transactions?

[ES35BE DFHTEB0L0 ID?

Meaning of fixed expenses and give examples.

pate] 8N @8 DoBokw éwﬁde'em&mé.
® @

Labour rate variance and labour efficiency variance.

(3205 Bewd DI8Es SoBA g dddes.

Salient features of capital budgets.

P0G G VEETFOR BB

Limitations of funds flow statement.

DGO [F08 TIBE Boo¥); I8,

Assumptions of marginal costing.

50785 sPQoR ([FAasren.
SECTION B — (2 X 8 = 16 marks)

Answer any TWO of the following questions.

Enunciate the functions of management accountant.

DEGIEd 95706300 BE); DIV DHBOHH.



Objectives of budgetary control.

0568 dAHoes Bod¥), Bgarren.

From the following information. Prepare a marginal cost statement and ascertain (a) PV

ratio and (b) B.E.P. (sales Rs.)

Rs.
Material costs 20,60,000
Labour costs 19,30,000
Overheads 4,70,000
Administration costs 12,00,000
Selling and distribution costs 8,00,000

Other fixed costs

Sales

BIOD DHBH0O 0& GRS 597 I (a) 2.9, AP HBAK (b) (B8 4D Sro0ed

(70% variable costs)
4,60,000
75,00,000

BATLDD B8,09H0. (wdyseen Eried”)

&oe.
238aHS 578 20,60,000
8350 Bgasi00 19,30,000
895 & 4,70,000
380 95050 12,00,000
e9BSe0 BADY JoDeB PN 8,00,000
(70 &0 B8 H500B0)

QB Y HgoHE 4,60,000
75,00,000

ea‘més“oo



Initial capital requirement for a project Rs. 35,00,000 expected cash flows as follows
compute net present value and profitability index.
Year CFAT
Rs.
8,32,000
9,66,000
9,50,000
7,43,000
5  5,40,000

PV factor for 8% discount rate is 0.926, 0.857, 0.793, 0.735, 0.681.
a8 RS SO (PB08S DR  8°. 35,00,000 es B8 200G  ©0DT°

VoDED 339) D90 BT DEY eserairen

= W DN =

QOIHYEHD  STAD I BTG ST 0IN

&oe.

8,32,000
9,66,000
9,560,000
7,43,000
5,40,000

Qu i W N~

8 Be&HI &@“boes_—éw ég 1 &o°. e 0.926, 0.857, 0.793, 0.735, 0.681.
2 DB ok ES (P0B DHVH LBASN €785 JTPHELL ELOR KD,
SECTION C — (3 X 14 = 42 marks)
Answer any THREE of the following questions.

From the following balance sheet of ABC Ltd. for the year ended 31t March 2017-18,
2018-19. Prepare a cash flow statement as per AS3.

Liabilities 2017-2018 2018-2019 Assets 2017-2018 2018-2019
Rs. Rs. Rs. Rs.

Equity share capital 50,00,000 55,00,000 Machinery 60,00,000 54,00,000
General reserve 7,44,000  8,00,000 Motor car 24,00,000 23,00,000
Share premium 2,96,000  2,80,000 Goodwill 2,00,000 1,60,000
Retained earnings 9,70,000 7,70,000 Long term investments 5,00,000 2,00,000
11% debentures 20,00,000 10,00,000 Stock 3,63,000  3,00,000
Bank overdraft 5,00,000 2,00,000 Debtors 2,71,000  2,10,000
Creditors 4,00,000 1,80,000 Cash at bank 1,50,000 1,20,000
Provision for taxation 34,000 10,000 Start up costs 60,000 50,000
99,44,000 87,40,000 99,44,000 87,40,000

Additional information :




Long term investment costing to Rs. 3,00,000 were sold for Rs. 3,50,000.
3308y 31, 201718, 2018-19 [50HHYSS0HL BKHH BIDH ABC d&E 78 e eoype
B/Jéée) 2008 AS3.5KE 9908 IDEEL HAIEIBOINDW.

5o 2017-2018 2018-2019 esi500) 2017-2018 2018-2019
56888 e Baesso 500,000 55,00,000 gy ameys 60,00,000 54,00,000
ATeEr DOged 744,000  8,00,000 3 yop 30y 5055 24,00,000 23,00,000
e H0%0 2,96,000  2,80,000 i Eo& 2,00,000 1,60,000
20703y 9,70,000  7,70,000 Bgs05 Degartion 5,00,000  2,00,000
11% BBodE 20,00,000 10,00,000 5150, 3.63,000  3,00,000
arg0 856 |5 5,00,000  2,00,000 53250615 2,71,000  2,10,000
PIOEITHED 4.00,000  1,80.000 prneor6065° 515650 1,50,000  1,20,000
S8 DoTyen 34,000 10,000 55055 grsyen 60,000 50,000

99,44,000 87,40,000 99,44,000 87,40,000

5D BETPTEI:

&, 3,00,000 © dewd Ko (5qg5°@§ eI 8°. 3,50,000 0% 2P0 K)oéé{\)d‘cﬁo\)é’s
@31)&@8.

At 60% capacity utilization of plant, An industrial unit produces 2400 units. The costs
incurred are as follows.

Rs.
Direct material 12,00,000
Direct labour costs 10,80,000
Indirect material 2,40,000
Indirect labour costs 1,80,000
Selling and distribution costs 8,40,000

(60% variable)

Fixed costs 9,30,000
Sales 46,00,000
Profit 1,30,000



You are required to prepare a flexible budget to ascertain profit or loss at 80% and
90% capacity utilization of plant.

60 T30 FWTFI0 DG 8 oY B Do SAHeo 2400 ARy, T B

BN N
S5 DS HHI.
8.
(S5 20638008y 12,00,000
(555, (350 B5aHHN 10,80,000
$8°5 20e38aHS) 2,40,000
$8°% (#0 1,80,000
955700 HBALO JoDEB HAHH 8,40,000
(B0 o500 B8 HIoR0B5)

SRMISES 9,30,000
R HyasTed 46,00,000
)
SR 1,30,000

80 ER00 B0BALY 90 FER AWGFHN D ROGY SRIVORY EYY BIVS® B g
(05°8500 &7gIH° /JgdIe B8);,0)0.
From the following information. Calculate :
(a) Labour cost variance
(b) Labour rate variance

(¢) Labour efficiency variance.

Standard Actual
No. of Hours Rate No. of Hours Rate
Workmen per head per hour Workmen per head per hour
Men 54 7 80.00 50 8 82.00
Women 62 8 70.00 64 9 71.00

B0 DHED0 Do



()  ([R0¥ S50 DBYed
(b)  [e20% Bew D5 20850
(© W aomgém DVGea00 B);0:pH0.

PPETEEAD ToHBH0

)

PO a8 B Koedd PO a8 PR Koedd

R0y HpBofw wesw OO DOBS So B0 cemyy OB

(Koeoen) & (Koten) 8.
Sosows b4 7 80.00 50 8 82.00
5o 62 8 70.00 64 9 71.00

Explain about tools and techniques used in management accounting.

DIER00E5 ©T7,0B80RS D GIBIROD FeEre0 SRB00e) DHBoWOE.

Discuss the merits of marginal costing.

985S STROR DD [HBICETL BOYYH.
=) [}

How do you compute funds flows from operating activities?

SPEFEOTO TFO® DAY DGOV ADFOTT BE),0808?




